VoSN

-
T

a7

STREET SCENE EQUIPMENT.,INC. 950-79600
365 McCormick Avenue 1997 - 1999
- Costa Mesa, Ca. 92626 DODGE DAKOTA
- Phone (714) 426-0590 Fax (714) 426-0591 &
DODGE DURANGO
INSTALLATION INSTRUCTIONS MAIN GRILLE
STAINLESS STEEL

VERY IMPORTANT ! Read and understand all directions and check the following parts list before starting
installation.

No Drilling Is Required

Removing the stock mesh grille from the grille shell is recommended, but not required. See step 4 A

PARTS LIST
4 Speed Grille Section 1 Instruction Sheet 24 Attaching Clips # 71098
4 # 8/32 X 3/4" Bolt 1 |Street Scene Emblem 8 # 8 Flat Washers
3 9/16 Tubing Clamps 4 # 8/32 Nylock Nuts 1 Hood Latch Cable
3 3/16 Cable Clamps 1 Got Street Scene Decal
l TOOL LIST

" Safety glasses, 8 mm socket, 5/16 wrench, phillips screwdriver, A grinder, dremel tool, file, etc., is needed

" to remove the mesh grille or notch the mesh grille flange ( See Step 4 A ).

NOTE: USE A SOFT CLOTH AND POLISH TO POLISH BOTH SIDES OF THE GRILLE BEFORE INSTALLATION

1.

2.

Before beginning installation be sure to wear proper eye protection.

Remove the grille shell from the vehicle. Open the hood and remove the fasteners from the
back of the shell with a 8 mm wrench.

Remove the "Speed Grille" from it's package.

You can either: A. Remove the stock mesh grille ( recommended ), or B. Leave it in place.

A. To remove the stock mesh grille, lay the grille shell face down on a surface that won't
damage it ( cloth, newspapers, etc. ). Remove the ends of the plastic rivets that retain
the mesh grille by grinding or filling.

B. If the stock mesh grille is left in place, you must cut , grind or file notches in the flat plastic
flange between the vertical bars so the Speed Grille Retaining Clips can be installed. There
are four grille segments. In each segment, you need three clips and notches for them on the
top & three on the bottom. One notch should be at the center and the outboard notches should
be within two or three inches from the ends.

Each Speed Grille section is labeled for a grille opening. Install them one at a time from the front,
then secure each sections with six clips. The clips install from the back of the grille with the raised
side facing inward so it clears the vertical lip. If the stock mesh grille is in place, make sure the
Speed Grille sections bottom against it. If the stock mesh grille bars have been removed, position
the Speed Grille sections so the lowest point matches the bottom flange of the grille shell.

Reinstall the grille shell on the vehicle with the stock fasteners. Don't close th hood until the
Remote Hood Latch Cable is installed. The latch can be operated with a screwdriver as an
emergency backup.

THE SPEED GRILLE™ may be covered by one or more of the following U.S. Patents: D427,119,D0425,834,D421,585,D420,
961,D420,960,D420,959, and D420,958 may be covered by one or more pending U.S. Patent applications.

PAGE 1 [

8/23/02 SSE 950-79600




Stock Grifle Tube Frame

INustration "A" (\:nhle Eye /Cahle Clamp Te Tubing Frame

T =T T

o drivers side
passenger side upper grille] upper grille

e

imssengm side lower grille drivers side
k_\\ F lower grille
Attach the ¢able with two ¢l .
a e ca with tw
'* e e T Hige

right next to the "T"" handle to hold
It straight.

Test? "I Handle Relesse Before Closing The Hood

Hood Release Cable Routing As Viewed
From The Front Of The Grilie

Install the Remote Hood latch Cable assembly starting with attaching the cable eye on the top side
of the stock release lever hole. Fasten with a # 8 screw, ny-lock nut and flat washers provided. Place
the flat washers on each side of the latch hole and tighten the screw just enough so the cable end
can move back and forth for ease of operation.

Route the cable as shown illustration A & B, then secure it in place to the tubing frame behind the
grille with the nylon clampsas shown in illustration C. The " T " handle should be located at the
bottom center of the grille so it's easily accessible when the hood is closed. The two bottom clamps
should be located close to the " T " handle to keep it straight & stable. The " T " handle can be
rotated straight by loosening the jam nut, rotating the handle, then holding the handle while tightening
the jam nut.Before tightening the clamps, make sure the black outer part of the cable housing is

slid down snugly against the " T " handle and there is no slack in the open end of the cable where it
attaches to the latch. Test the operation of the " T " handle to make sure it operates the latch before
closing the hood.

Tlustration

Quter Cable Sleeve

GRILLE SHELL

(TOP)

1_ Cable Clamp Assy
Must Clear Latch

Helease When T
™\ Handle Is Pulled

Stock

Hood
Latch
Finger
Lever

‘]_I E —Latch Release
- SPEED GRILL

I—’Er- INSERT

BARBS ON CLIP SHOULD GRAB ONTO LOOP OF SPEED GRILLE
AND GRAB ONTO GRILLE SHELL ON OPPOSITE SIDE

3NG" Mylen
Cable Clamp

Cable Sieeve

[ Secondary Hood Latch Assembly As Viewed From The Bottom |
e PUSH CLIP ON
GRILLE SHELL
Cable Clamping Assembly -Illustration *'C" (BOTTOM) (_

#8 Nylock Nut \

#8 Flat Washer

CUT AWAY SIDE VIEW OF TYPICAL CLIP INSTALLATION
(CLIP SIZE MAY VARY BETWEEN APPLICATIONS)

To assembile, first snap the clamps over the cable & tubing. Squeeze
the clamps together to insert the #8 screw. Route cable, then tighten.



	Sheet1

